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Quiz : Assignment 2

Feedback for Week 2

Due on 2018-08-15, 23:59 IST.

1) 1 point

2) 1 point

Assignment 2
The due date for submitting this assignment has passed.

As per our records you have not submitted this assignment.

(A) 

(B) 

(C) 

(D) 

No, the answer is incorrect.

Score: 0

Accepted Answers:

(A) 

(A) 

(B) 

(C) 

(D) 
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4) 1 point

5) 1 point

6) 1 point

(A) For a negative uniaxial crystal, extraordinary RI is greater than the ordinary RI, i.e., 

(B) For a positive uniaxial crystal, optic axis corresponds to the fast axis

(C) For a negative uniaxial crystal, along optic axis velocity of e-wave is greater than that of o-wave

(D) For a positive uniaxial crystal, wave polarised perpendicular to optic axis corresponds to o-wave

No, the answer is incorrect.

Score: 0

Accepted Answers:

(B) For a positive uniaxial crystal, optic axis corresponds to the fast axis

(D) For a positive uniaxial crystal, wave polarised perpendicular to optic axis corresponds to o-wave

A linearly polarized beam is incident on a half wave-plate making an angle of 𝝅/𝟒 with the fast axis. Then the

emergent beam from the half wave-plate is

(A) 𝑒𝑙𝑙𝑖𝑝𝑡𝑖𝑐𝑎𝑙𝑙𝑦 𝑝𝑜𝑙𝑎𝑟𝑖𝑠𝑒𝑑

(B) 𝑐𝑖𝑟𝑐𝑢𝑙𝑎𝑟𝑙𝑦 𝑝𝑜𝑙𝑎𝑟𝑖𝑠𝑒𝑑

(C) 𝑙𝑖𝑛𝑒𝑎𝑟𝑙𝑦 𝑝𝑜𝑙𝑎𝑟𝑖𝑠𝑒𝑑

(D) 𝑢𝑛𝑝𝑜𝑙𝑎𝑟𝑖𝑠𝑒𝑑

No, the answer is incorrect.

Score: 0

Accepted Answers:

(C) 𝑙𝑖𝑛𝑒𝑎𝑟𝑙𝑦 𝑝𝑜𝑙𝑎𝑟𝑖𝑠𝑒𝑑

About the index ellipsoid of an anisotropic medium, which of the following is/are true?

(A) Half lengths of the ellipsoid axes represent the RI’s in three mutually orthogonal directions (𝒙,𝒚,𝒛)

(B) For a given direction of propagation, the ellipsoid yields two directions of polarisation of the wave

(C) For a given direction of propagation, the ellipsoid yields two RIs that correspond to the two orthogonal

polarisations of the wave

(D) For a given direction of propagation, the ellipsoid yields two 's that corresponding to two possible polarization of the

wave

No, the answer is incorrect.

Score: 0

Accepted Answers:

(A) Half lengths of the ellipsoid axes represent the RI’s in three mutually orthogonal directions (𝒙,𝒚,𝒛)

(B) For a given direction of propagation, the ellipsoid yields two directions of polarisation of the wave

(C) For a given direction of propagation, the ellipsoid yields two RIs that correspond to the two orthogonal

polarisations of the wave

(D) For a given direction of propagation, the ellipsoid yields two 's that corresponding to two possible

polarization of the wave

(A) 

(B) 

(C) 

(D) 

No, the answer is incorrect.

Score: 0

Accepted Answers:

(A) 

>ne no

D⃗ 

D⃗ 
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7) 1 point

8) 1 point

9) 1 point

(A) 𝝅/𝟒

(B) 

(C) 

(D) 

No, the answer is incorrect.

Score: 0

Accepted Answers:

(D) 

(A) 𝟎.𝟓𝟐𝟑𝟕

(B) 𝟎.𝟕𝟖𝟓𝟑

(C) 𝟏.𝟎𝟒𝟕𝟏

(D) 𝟎.𝟑𝟗𝟐𝟓

No, the answer is incorrect.

Score: 0

Accepted Answers:

(A) 𝟎.𝟓𝟐𝟑𝟕

(A) 

(B) 

(C) 

(D) 

No, the answer is incorrect.

Score: 0

Accepted Answers:

(A) 
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10) 1 point

11) 1 point

12) 1 point

In a uniaxial crystal, one sees double refraction or two images of a point object. This happens due to splitting of an

incident wave into an ordinary wave and an extraordinary wave, i.e., o-wave and e-wave. In this context, what is true about the

o-wave and e-wave?

(A) both follow Snell’s law

(B) only o-ray follows Snell’s law

(C) e-ray in positive crystal follows Snell’s law

(D) e-ray in negative crystal follows Snell’s law

No, the answer is incorrect.

Score: 0

Accepted Answers:

(B) only o-ray follows Snell’s law

(A) 2.7 𝜇𝑚

(B) 27.5 𝜇𝑚

(C) 7.52 𝜇𝑚

(D) 75.2 𝜇𝑚

No, the answer is incorrect.

Score: 0

Accepted Answers:

(B) 27.5 𝜇𝑚

(A) 

(B) 

(C) 

(D) 

No, the answer is incorrect.

Score: 0

Accepted Answers:

(A) 

(C) 

(D) 
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